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2. (@) 4 points

Distribution
of points

For analyzing only the forces on the right-hand block 1 point
For stayng that the sum of all forces equals zero. 1 point

2 points

Credit was also given if any of the following statements

were made without further clarification:
T=10N

3 e

(1 point)
(2 points)
(4 points)

1 point for each of the four correctly identified forces
(Full credit given for frictional force /, pointing

in either direction along the plane)

1 point was deducted for any additional forces.
1 point was deducted for any number of incorrect labels or
o labels at all

(@ 3 points

J, =T = mg sin 60" = (100 N) - (10 kg) (10 ms?) (87) 3 points

=100N-87N=13N

Full credit was also given for using ¢ = 9.8 m s* or for
using sin 60° = .866 or any value from a calculator.
I student used cos 60" instead of sin 60°. a maximum

of 2 points was awarded.

I any incorrect solution made use of , (rather than ).

1 point was awarded.
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1988 Physics B
1.

(a) & potnts
Tension

weght

SOLUTION Distribution
of points

Accepted: Tension, T, Rope force
Not Accepted: helicopter force, normal
force, upward force

Accepted: Velght, ¥, mg
Not Accepted: g, mass, 9.8 m/s?

2 points awarded for each force vector correctly placed

and labelled. 1 point

extraneous force.

4 potnts
Newton's 2nd Law:

T-omg-ma

leducted for an incorrect or

IF - aa

T =70 kg (9.8 m/s? + 5.2 n/s?)

T-1050 ¥

6 points

For uniform acceleration equation: § = vpt + %nl

For helicopter: Sy = (30 a/e)e + 1(5.2 a/a?)e?

For package: Sp = (30 n/s)c - %(9.: w/s?)e?

1 polnc for correct initial velocities, 1 point for each

acceleration

Sy-Sp+S5Sm=30m+5m=35a
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